North Korea Direct Fire Chart

Range Effectiveness
Unit Ammo | ROF Range in hexes :ZZZ
0 7 2 3 4 6 8 10 12 14 16 18 20 22
AP | 1 |7:17]818]|717|56 |36 ]|214 1514 — | — | — | - | = | -1 —| 4
HEAT 1 |77feaz|sn7| 7|37 |2za7 7| - | - | - | = | = | - | = 2
TYPE 59 HE 1 3 |66 |6 |65 |4 |3]l2]]1|-]-1-1-138
scap* | 2 |esf85|4s|23)1:2| - | - | - | - | - | -1 —-|=1[|= 4
SA 2 3 5 5 3 1 -l - -l =1l =1l=01l=1=1= 8
HEAT 1 | 5:10| 8:10] 4:10]| 3:10| — — — — — — — — — — 4
PT-76 HE 11 4| 6 5 4 — — — — — — — — — —
HVAP 1 16:12[4:10]3:8 [ 226 | — — |-l -1 - =1 -1 =1= 2
SA 2 3 5 5 3 1 — — - = -] - =1]=1= 8
Infantry A | HEAT 1 }8:18|6:18[2:18| — — — — — — — — - — _ 2
SA 2 |10 ]| 8 6 4 2| - -1 = =]~} =1]=1=1 - 6
Infantry B | HEAT 1 [8:17 (617|217 | — — — — — - - — —_ — — |2t0)
(InfantryC1|  sA 2 8 6 | 4 1 — | -] -] = =|=1=1=1=1= ot
HQ/OP/ . $A 22l -~ | | =l=1=-1_1_-1-1=1=1]1=13%
ol meAT 1 fezfatr S S S =T = [ = = | = =1 =1 =1 =11
Motercycle
L - SA 6. 4 2 1 — - - - — - | = - | = — — |10
) FLW 1 8 6 -l - - === =-41=1=1=71-=-1= 2
Engineer
SA 2 4 3 1 — | - | = - - | = - — | - | = 8
scaP* | 3 le7 (87|87 |6:7)56 46|24 |13 — | — | — - - | - 8
BTR-60 ™ 2 12 | 4|44 4]21]|=-]=<1-T1=-1=-T1T=-1-Ta
SCAP*| 1 | 410} 6110/ 4:10| 4:8 | 3:8| 2:6 |1:56 [1:6 | — - - - - -
ZSU-57 10
scHE | 1 | 3 ] 4 4| 413 {3 |3 |2]2 1| - | === _
AP 3 16:10|7:9 |5:9 |5:9 14:9 [2:8 [1:7 — — — — — — — 18
M-42 HEAT | 3 |6 |71 |&n [4nj3n |21 [t | — | — | — F — | — | — | — | 14
] HE 3 2 3 3 3 3 2 2 2 2 1 — | =] =1 =120
B11 HEAT 1 |5:16|4:16 316 | — — — - — — — — — — — 8
HE 1 2 3 2 2 2 2 — | - -] - -1_
AP 1 16:16|8:15|8:15|7:14|6:14 (213|112 — | = | = | — | = | — | = 4
HEAT 1 |6:18)|8:18|7:18|6:18 318 |2:18|1:18| — | — | — | - | = | = | = 2
HE 1 2 4 4 4 4 3 3 2 2 1 e 7
PT-85 sa |2 |3 s |8 |3 |1 -1 - | -1 _|T_-T-1T_-1"-"T=-171s
scap* | 2 |65 |85|4423)1:2| — | - |- | —-|-|-1-=1]=1|- 4
Msl 1 — — -~ | 418|4:18] 4:18| 4:18| 4118]| 518} . — - — 2
AP 1 |a:1s|918 (817|717 817 36]2:18 (114 — | — | — | — | — | — | 4
HEAT 1 7:1818:18(8:18 {5:18 [ 3:18 | 1:18| — — — — — — — — 2
T'ng HE 1 1 4 | 8 g8 | 8 g | 7| 8 5 4 | — | - | -1=-17
scap* | 2 {65 (85|44 |23 |12 — | — [ - | - | | -1 -—-1]1-=-1+= 4
SA 2 3 5 5 3 1 — - == =-]1=1=1= 8
scap* | 3 |65 (85|44 23|12 — | — | — | — | — | -1 | =] = 8
VET SA 2 3 5 5 3 1 — -l = - =] =-]1=1]1=1= 8
Msl 1 — | — | = |4n8|4:18]|4:18]4:18]| 4:18]| 5:18] . — — — — | — 2
AAMT 1 — — 35| 225|225 |25 |26 |26 |1:5|1:5|15]|1:5]|1:6]|1:5 2
BTR-50 SA 2 2 4 4 4 4 2 1 1 =1 -1 -1 -1 _1_ 2
ZPU-2 | gcap* |2@) 6575 l4al23)12| — | — | — | — | - | =1 -=|=1]1="1_18
(ZPU-4) | gope |23) 3 [ 3 |3 |2 |2 |1 I D U e D T )
AP 1 6:16 | 7:16 | 6:15 | 5:14 [ 3:13 |1:13 | — - — — — — — — 4
SU-100 HEAT 1 |6:16]7:16|5:16|3:16 |2:16 [1:16 | — — - — — — — — 8
HE 1 4 6 5 4 3 2 1 - -] -1 =1-=1-1= 2
AP 1 |s8:18lo18|8:17|7:17 617 |4n6 (395 (214113 — | - | — | — | — 4
cHO4 HEAT 1 |s:18|9:18|8:18|7:18|5:18 3181218 — | — | — | — | = | = | = 2
& HE 1 1 4 g 8 8 8 7 6 5 4 | — | -] - | = 6
scaP* | 2 {65 (85|44 (23|12 — | — [ -] —-—|—-—]-1—-—1|-=1+= 4
SA 2 3 5 5 3 1 — -] =l =-]=-1]-1=1=1= 8
AT-3 Msl 1 | =] — | — | 318/ 318} 418/ 418 418|5:18] — | . — | — [ — | — | 4
HEAT | 1 [suslenslag] — | — | - | - | - [ - | -] -] -] -] -T2




